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PART – II ¼¼¼¼HkkxHkkxHkkxHkkx – II½½½½ 
SCHOLASTIC APTITUDE TEST 

'kSf{kd {kerk ijh{k.k'kSf{kd {kerk ijh{k.k'kSf{kd {kerk ijh{k.k'kSf{kd {kerk ijh{k.k 
  Questions : 1 to 100                   Time : 2 Hours 

1. 25 g of water contain - 

(1) 12 × 1023 atom of Hydrogen 

and 6 × 1023 atom of oxygen  

(2) 5 × 1024 atoms of Hydrogen 

and 2.5 × 1024 atoms of oxygen 

(3) 2.72 × 1023 atom of Hydrogen 

and 8.372 × 1023 atoms of 

oxygen 

(4) 16.722 × 1023 atoms of 

Hydrogen and 8.362 × 1023 

atoms of oxygen 

  1. 25 g ty esa gksrs gSa & 

(1) 12 × 1023 ijek.kq gkbMªkstu ds o               

6 × 1023 ijek.kq vkWDlhtu ds 

(2) 5 × 1024 ijek.kq gkbMªkstu ds o                   

2.5 × 1024 ijek.kq vkWDlhtu ds 

(3) 2.72 × 1023 ijek.kq gkbMªkstu ds o 

8.372 × 1023 ijek.kq vkWDlhtu ds 

(4) 16.722 × 1023 ijek.kq gkbMªkstu ds 

o 8.362 × 1023 ijek.kq vkWDlhtu 

ds 

2. Which of the following contain five 

molecule of water of crystallization ?  

(1) Blue Vitriol 

(2) White Vitriol 

(3) Epsom Salt 

(4) Green Vitriol 

  2. fuEu esa fdlesa fØLVyhdj.k ty ds ik¡p 

v.kq gksrs gSa \ 

(1) uhyk foVªhvy 

(2) 'osr foVªhvy 

(3) ,sIle yo.k 

(4) gjk foVªhvy 
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3. Digestive fluids in stomach has 

approximate pH of - 

(1) 0 (2) 2 

(3) 4  (4) 6 

  3. mnj ds ikpd jlksa dk pH eku yxHkx 

gksrk gS & 

(1) 0 (2) 2 

(3) 4  (4) 6 

4. When water gas mixed with half  

its volume of hydrogen and the 

mixture is compressed to 300 atm. 

pressure and passed over ZnO-

Cr2O3 catalyst  a colourless liquid 

is obtained which is used as 

solvent for paints & Varnishes.  

The liquid will be -  

(1) Methanol   

(2) Ethanol 

(3) Ether  

(4) Acetone 

  
4. tc okVj xSl dks mlds vk/ks vk;ru ds 

leku gkbMªkstu ds lkFk feykdj feJ.k dks 

300 ok;qe.Myh; nkc ij ZnO-Cr2O3 

mRizsjd ds Åij ls xqtkjk tkrk gS rks ,d 

jaxghu rjy izkIr gksrk gS tks jax vkSj 

okfuZ'k ds fy, foyk;d ds :i esa iz;ksx 

gksrk gS] ;g rjy gS & 

 

(1) ehFksukWy   

(2) bFksukWy 

(3) bZFkj  

(4) ,lhVksu 

5. Which of the following 

arrangement represent increasing 

oxidation number of central atom 

(Mn,Cr,Cl) ? 

(1) −−−−

23
2
44 ,,, CrOClOCrOMnO  

(2) −−−−

24
2
43 ,,, CrOMnOCrOClO  

(3) −−−−

4
2
432 ,,, MnOCrOClOCrO  

(4) −−−−

324
2
4 ,,, ClOCrOMnOCrO  

  5. fuEu esa ls dkSu&lk Øe e/; v.kqvksa  

(Mn,Cr,Cl) dh vkWDlhdj.k la[;k ds 

lgh c<+rs Øe dks iznf'kZr djrk gS \ 

 

(1) −−−−

23
2
44 ,,, CrOClOCrOMnO  

(2) −−−−

24
2
43 ,,, CrOMnOCrOClO  

(3) −−−−

4
2
432 ,,, MnOCrOClOCrO  

(4) −−−−

324
2
4 ,,, ClOCrOMnOCrO  
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6. Which of the following is an oxide 

ore ? 

(1) Calcite  

(2) Zincite 

(3) Magnesite  

(4) Calamine 

  6. fuEu esa ls dkSu&lk ,d vkWDlkbM v;Ld 

gS \ 

(1) dsYlkbV 

(2) ftulkbV 

(3) esXuslkbV 

(4) dsykekbu 

7. Which of the following statements 

are incorrect regarding  

Mandleev's periodic table ? 

(a) Mandleev considered 

compounds formed by element 

with oxygen and hydrogen. 

(b) In the table Ni is placed before 

Co. 

(c) Eka-silicon in Mandleev's 

periodic table is gallium. 

(d) The properties of elements are 

the periodic function of their 

atomic masses. 

(1) Only (b)   

(2) Only (c) 

(3) Both (b) & (c)  

(4) Both (a) & (d) 

  7. esUMyho dh vkorZ lkj.kh ds lanHkZ esa uhps 

fn, x, dFkuksa esa dkSu&ls dFku vlR;vlR;vlR;vlR; 
gSa \ 

(a) esUMyho us rRoksa ds gkbMªkstu o 

vkWDlhtu ls cus ;kSfxdksa ij /;ku 

dsfUnzr fd;kA 

(b) lkj.kh esa Ni dks Co ls igys j[kk 

x;k gSA 

(c) vkorZ lkj.kh esa xsfy;e dks 

,dk&flfydu fn[kk;k x;k gSA 

(d) rRoksa ds xq.k /keZ muds ijek.kq Hkkj ds 

vkorZ Qyu gksrs gSaA 

 

(1) dsoy (b)  

(2) dsoy (c) 

(3) (b) vkSj (c) nksukas  

(4) (a) vkSj (d) nksuksa 
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8. Consider the two statements 

below one labelled as Assertion (A) 

and other as Reason (R). Examine 

these two statements carefully and 

decide if Assertion (A) and Reason 

(R) individually true and if so (R) 

is a correct explanation of (A) 

select your answer using the code 

below : 

Assertion (A) : Magnesium 

imparts characteristic colour to 

the flame.  

Reason (R) : Due to small size 

and high effective nuclear charge 

ionization enthalpy of magnesium 

is high. 

(1) Both A & R are true and R is a 

correct explanation of A. 

(2) Both A & R are true but R is 

not correct explanation of A.  

(3) A is true R is false. 

(4) A is false R is true. 

  8. iz'u esa nks dFku fn, x;s gSa buesa ls ,d 

vfHkdFku (A) gS rFkk nwljk fu"d"kZ (R) 

gSA dFkuksa dks /;kuiwoZd i<+us ds ckn ;g 

fu.kZ; djsa fd D;k vfHkdFku (A) rFkk 

fu"d"kZ (R) vyx vyx lR; gSa rFkk 

fu"d"kZ vfHkdFku dh lgh O;k[;k gSA uhps 

fn, x;s dksM ds vk/kkj ij vius mÙkj 

pqus % 

vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)        %%%% eSXuhf'k;e Tokyk dks 

,d pkfjf=d jax iznku djrk gSA 

fu"d"kZ fu"d"kZ fu"d"kZ fu"d"kZ (R) %%%% vius NksVs vkdkj o mPp 

ukfHkdh; vkos'k ds dkj.k eSXuhf'k;e dh 

vk;uu ÅtkZ vf/kd gksrh gSA 

(1) A vkSj R nksukas lR; gSa rFkk R, A 

dh lgh O;k[;k gSA 

(2) A vkSj R nksukas lR; gSaA fdUrq  R, A 

dh lgh  O;k[;k ugha gSA 

(3) A lR; gS fdUrq  R vlR; gSA 

(4) A vlR; gS fdUrq  R lR; gSA 
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9. Incorrect statement in regard to 

halogens is – 

HI > HBr > HCl > HF 

(1) Chlorine has the highest 

electron affinity in the group.  

(2) Ionization energies of halogen 

are very low.  

(3) Except fluorine they show an 

oxidation sate of –1 or +1. 

(4) Acidic strength of hydrogen 

halides decrease in the order. 

  9. gsykstu ds lac/k esa xyrxyrxyrxyr dFku gksxk & 

HI > HBr > HCl > HF 

(1) Dyksjhu dh bysDVªku ca/kqrk oxZ esa 

lcls vf/kd gksrh gSA 

(2) gsykstu dh vk;uu ÅtkZ cgqr de 

gksrh gSA 

(3) ¶yksjhu ds vfrfjDr lHkh –1 vFkok 

+1 vkWDlhdj.k voLFkk iznf'kZr djrs 

gSaA 

(4) gkbMªkstu gsykbM~l dh vEyh; 'kfDr 

dk ?kVrk Øe gSA 

10. Reaction with sodium hydrogen 

carbonate can be used to 

distinguish between - 

(1) Ethanoic acid & Methanoic 

acid  

(2) Ethanol and Methanol 

(3) Ethanol and Ethanoic acid 

(4) Ethylacetate and Ethanol 

  10. lksfM;e gkbMªkstu dkcksZusV ds lkFk 

vfHkfØ;k fdlesa varj Li"V djus ds fy, 

iz;ksx dh tk ldrh gS \ 

(1) bFkkuksbd vEy vkSj ehFkkuksbd vEy 

 

(2) bFkkuksy vkSj ehFkkuksy 

(3) bFkkuksy vkSj bFkkuksbd vEy 

(4) bFkkby ,slhVsV vkSj bFkkuksy 
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11. Rekha dropped a metal piece A in 

the solution of another metal B. 

After some time a new colourless 

compound C is formed. A,B,C 

respectively can be - 

(1) Cu, ZnSO4,CuSO4 

(2) Mg, NaCl, MgCl2 

(3) Mg, CuSO4, MgSO4 

(4) Fe, ZnSO4, FeSO4 

 

  11. js[kk us ,d /kkrq A  ds VqdM+s dks ,d 

nwljh /kkrq ds foy;u B eas MkykA dqN 

le; ckn ,d jaxghu ;kSfxd C dk fuekZ.k 

gksrk gSA A,B,C Øe'k% gksxsa & 

 

(1) Cu, ZnSO4,CuSO4 

(2) Mg, NaCl, MgCl2 

(3) Mg, CuSO4, MgSO4 

(4) Fe, ZnSO4, FeSO4 

12. IUPAC Name of following 

compound will be: 

                            H                            H 

                                             C 

                                                                          

CH3–CH2–C–CH2–CH2–CH3 

(1) 3-Methylene hexane  

(2) 2-Propyle-1-butene 

(3) 4-Ethyl-4-pentene 

(4) 2-Ethyl-1-pentene 

  12. fuEu ;kSfxd dk IUPAC uke gksxk & 

 

                            H                            H 

                                             C 

                                                                          

CH3–CH2–C–CH2–CH2–CH3 

(1) 3-ehFkkbyhu gsDlsu  

(2) 2-izksikby&1&C;wVhu 

(3) 4-bFkkby&4&isUVhu 

(4) 2-bFkkby&1&isUVhu 
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13. In balanced chemical equation  

 a Cu + b HNO3 (dil) ––– 

 c Cu (NO3)2 + d H2O + e NO  

Which of the following alternative 

are correct ? 

(1) a=1  b=4  c=1  d=2  e=2 

(2) a=3  b=4  c=3  d=1  e=1 

(3) a=1  b=4  c=1  d=4  e=2 

(4) a=3  b=8  c=3  d=4  e=2 

  13. larqfyr jklk;fud lehdj.k esa 

 a Cu + b HNO3 (dil) ––– 

 c Cu (NO3)2 + d H2O + e NO  

fuEu esa ls dkSu&lk fodYi lghlghlghlgh gS \ 
 

(1) a=1  b=4  c=1  d=2  e=2 

(2) a=3  b=4  c=3  d=1  e=1 

(3) a=1  b=4  c=1  d=4  e=2 

(4) a=3  b=8  c=3  d=4  e=2 

14. Which of the following does not 

relate to the Non Cooperation 

Movement (1919) in India ? 

(1) Renouncement of titles. 

(2) To quit govt. schools and 

colleges by the students. 

(3) Disobeying govt. laws. 

(4) Boycott of judicial courts by 

advocates. 

  14. fuEufyf[kr esa ls fdldk laca/k Hkkjr esa 
1919 ds vlg;ksx vkUnksyu ls ughughughugh aaaa Fkk \ 
 

(1) mikf/k;ksa dk ifjR;kxA  

(2) fo|kfFkZ;ksa }kjk ljdkjh Ldwy o 
dkWystksa dk ifjR;kxA 

(3) ljdkjh dkuwukas dh voKkA 

(4) odhyksa }kjk U;k;ky;ksa dk cfg"dkjA 

15. What does the novel 'Sevasadan' 

by Munshi Premchand mainly 

relate to ? 

(1) Attrocities under colonial rule. 

(2) Social problems like child 

marriage and dowry. 

(3) Life of an orphan. 

(4) Misries of a poor peasant. 

  15. eqa'kh izsepan dk miU;kl ^lsoklnu* 
eq[;:i ls fdlls lacaf/kr gS \  
 

(1) vkSifuosf'kd 'kklu eas gqbZ T;knfr;k¡A 

(2) cky&fookg ,oa ngst tSlh lkekftd 
dqizFkk,¡A 

(3) ,d vukFk dk thouA 

(4) ,d xjhc fdlku ds nq%[kA 

Downloaded from cclchapter.in



A  ( 10 ) 

NTSE(Level-1)(P-II)Exam. Nov. – 2018   

16. Which the following statements 

are correct regarding Liberal 

Nationalism in 19th century 

Europe ?  

(I) Right of Liberty and Equality .  

(II) Formation of people's govt. 

(III)Ownership of private property. 

(IV)Complete Control of govt. on 

all public and private 

property. 

(1) I, II, III (2) IV, III, I 

(3) III, IV, II (4) I, II, IV 

  16. 19oha 'krkCnh ds ;wjksi eas mnkj jk"Vªokn ds 

lanHkZ esa dkSu&ls dFku lghlghlghlgh gS \ 
 

(I) Lora=rk ,oa lekurk dk vf/kdkjA 

(II) yksxksa dh ljdkj dk xBuA 

(III)futh laifÙk dk ekfydkuk gd A 

(IV)futh ,oa lkoZtfud laifÙk ij ljdkj 

dk iw.kZ vf/kdkjA 

 

(1) I, II, III (2) IV, III, I 

(3) III, IV, II (4) I, II, IV 

17. Which of the following statements 

are correct on Gandhiji's breaking 

the salt law to start Civil 

Disobedience Movements ?  

(I) Salt was the need of rich and 

poor all. 

(II) British Govt. levied tax on the 

salt. 

(III)Only govt. agencies were 

allowed to make salt. 

(IV)Lord Irwin abolished tax on 

salt. 

(1) I, II, III (2) II, III, IV 

(3) III, IV, I (4) I, III, IV 

  17. fuEufyf[kr eas ls dkSu&ls dFku egkRek 
xk¡/kh }kjk lfou; voKk vkUnksyu dh 
'kq:vkr ued dkuwu rksM+dj djus ds 
laca/k esa lghlghlghlgh gS \ 

(I) ued dh vehjksa o xjhcksa lHkh dks 
vko';drk FkhA 

(II) fczfV'k ljdkj us ued ij dj yxk 
fn;k FkkA 

(III)ued cukus dk vf/kdkj dsoy 
ljdkjh laLFkkuksa dks FkkA 

(IV)ykMZ bjfou us ued ls dj gVk fn;k 
FkkA 

(1) I, II, III (2) II, III, IV 

(3) III, IV, I (4) I, III, IV 
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18. Which of the following statements 

are  correct in relation to the great 

depression of 1929 in India ? It led 

to –  

(I) Decline in trade  

(II) Steep hike in wheat prices. 

(III) Growth in industrial 

investment. 

(IV)Fall in jute prices. 

(1) II, III, IV (2) I, II, III 

(3) I, III, IV (4) I, II, IV 

  18. Hkkjr esa lu~ 1929 dh egkeUnh ds laca/k 
esa dkSu&ls dFku lghlghlghlgh gSa \ 

blds ifj.kkeLo:i gq,& 

(I) O;kikj esa fxjkoVA 

(II) xsgw¡ ds nkekas esa rhoz mNkyA 

(III)vkS|ksfxd fuos'k esa c<+ksÙkjhA 

(IV)twV ds nkeksa esa fxjkoVA 
 

(1) II, III, IV (2) I, II, III 

(3) I, III, IV (4) I, II, IV 

Direction : (Q. No. 19 to 22) 

Read the statements and select the 

correct answer from the options given 

below. 

(1) Statement I is true,  

 Statement II is false. 

(2) Statement I is false 

 Statement II is true. 

(3) Both Statements are true and 

statement II provides explanation to 

statement I. 

(4) Both Statements are true but 

statement II does not provide 

explanation of statement I. 

  funsZ'k %funsZ'k %funsZ'k %funsZ'k % ¼iz0 la0 19 ls 22½ 

uhps fn, x, dFkuksa dks if<+;s vkSj fn, x, 

fodYiksa esa ls lgh mÙkj dk p;u dhft,A  

(1) dFku I lgh gS] 

 dFku II xyr gSA 

(2) dFku I xyr gS] 

 dFku II lgh gSA 

(3) nksuksa dFku lgh gSa] dFku II dFku I dh 

O;k[;k djrk gSA 

(4) nksuksa dFku lgh gSa] ijUrq dFku II dFku I 

dh O;k[;k ugha djrkA 
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19. Statement I : Long years of war 

and the cost of extravagant court 

of the king drained the financial 

resources of France. 

Statement II : Only the members 

of the third estate had to pay taxes 

to the state.  

  19. dFku dFku dFku dFku I    %%%% yacs le; ls py jgs ;q) o 

jktk ds njckj ds 'kkgh [kpksZa ds dkj.k 

Ýkal esa vkfFkZd lalk/ku {kh.k gks x,A 

dFku dFku dFku dFku II %%%%  dsoy r`rh; oxZ ds lnL;ksa dks 

jkT; dks dj nsuk gksrk FkkA 

20. Statement I : Russia's army lost 

badly in Germany and Austria in 

1914-1916. All able bodied men 

were called to the war which led to 

scarcity of bread. 

Statement II : Tsarist autocracy 

collapsed in 1917. 

 

  20. dFku dFku dFku dFku I %%%%    1914-1916 esa :l dh lsuk 

dks teZuh o vkfLVª;k esa Hkkjh ijkt; 

feyhA 'kkjhfjd :i ls ;ksX; lHkh iq:"kksa 

dks ;q) esa cqyk fy;k x;k ftlds dkj.k 

jksVh dh deh dh leL;k mRiUu gks xbZA 

dFku dFku dFku dFku II    %%%% lu~ 1917 esa tkj'kkgh dk 

var gqvkA 

21. Statement I : Railways were 

essential for colonial  trade and for 

the movement of Imperial troops. 

Statement II : The forests around 

the railway tracks fast  started 

disappearing . 

  21. dFku dFku dFku dFku I %%%% vkSifuosf'kd O;kikj ,oa 'kkgh 

lsukvksa ds lqxe vkokxeu ds fy, jsyos 

dk gksuk vko';d FkkA 

dFkdFkdFkdFkuuuu    II %%%% jsy&iVfj;ksa ds vkl&ikl ds 

ou 'kh?kz gh foyqIr gksus yxsA 
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22. Statement I : Simon commission 

was opposed by all the political  

parties in India. 

Statement II : Lord Irwin 

announced inclusion of 80% Indian 

members into the Simon 

Commission. 

  22. dFku dFku dFku dFku I %%%% Hkkjr ds lHkh jktuhfrd nyksa 

}kjk lkbeu&deh'ku dk fojks/k fd;k x;kA 

dFku dFku dFku dFku II %%%% ykMZ bjfou us lkbeu deh'ku 

esa 80% Hkkjrh; lnL;ksa dks 'kkfey fd, 

tkus dh ?kks"k.kk dhA 

23. Arrange the following historical 

developments in a chronological 

sequence - 

(I) Unification of Germany. 

(II) Unification of Italy. 

(III)The French Revolution. 

(IV)Treaty of Vienna. 

(1) I, II, III, IV 

(2) III, IV, II, I 

(3) II, IV, III, I 

(4) IV, I, III, II 

  23. fuEufyf[kr ,sfrgkfld ?kVukvksa dks 

dkyØekuqlkj O;ofLFkr djsa & 

 

(I) teZuh dk ,dhdj.kA 

(II) bVyh dk ,dhdj.kA 

(III) Ýkalhlh ØkfUrA 

(IV)fo;uk dh laf/kA 

(1) I, II, III, IV  

(2) III, IV, II, I 

(3) II, IV, III, I  

(4) IV, I, III, II 
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24. Arrange the following historical 

developments in a chronological 

sequence - 

(I) Poona Act. 

(II) Lahore congress : demand of 

'Purna Swaraj'. 

(III) Establishment of 'oppressed 

class Association' by Sh. B. R. 

Ambedkar. 

(IV)Second round table conference.  

(1) I, II, III, IV (2) III, IV, II, I 

(3) II, III, IV, I (4) IV, II, III, I 

  24. fuEufyf[kr ,sfrgkfld ?kVukvksa dks 

dkyØekuqlkj O;ofLFkr djsa & 

 

(I)  iwuk le>kSrkA 

(II) ykgkSj vf/kos'ku % ^iw.kZ Lojkt* dh 

ek¡xA 

(III) Jh ch- vkj- vacsMdj }kjk ^nfyr 

oxZ ,lksfl,'ku* dh LFkkiukA  

(IV)nwljk xksyest lEesyuA 

(1) I, II, III, IV (2) III, IV, II, I 

(3) II, III, IV, I (4) IV, II, III, I 

25. What does Mahatma Gandhiji's 

popular image in short dhoti and a 

spinning wheel depicts ? 

(1) Self � relience and resistance 

to use of British mill made 

cloth. 

(2) Easy and convenient way of 

living. 

(3) Living like a poor farmer in 

India. 

(4) Depiction of an indigenous 

image. 

  25. egkRek xk¡/kh dh NksVh /kksrh o pj[ks ds 

lkFk Nfo] D;k n'kkZrh gS \ 

 

(1) vkRefuHkZjrk ,oa fczfV'k fey ds cus 

diM+s dk izfrjks/kA 

(2) vklku ,oa lqfo/kktud thou 'kSyhA 

 

(3) Hkkjr ds xjhc fdlku dh Hkk¡fr jgukA 

 

(4) Lons'kh Nfo dks n'kkZukA 
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26. Certain minerals may occur as 

alluvial deposits in sands of valley 

floors and the base of hills. By 

which name these are known ? 

(1) Placer deposits  

(2) Manganese nodules  

(3) Bromine 

(4) Malleable 

  26. igkfM+;ksa ds vk/kkj rFkk ?kkVh ry dh jsr 

esa tyks<+ ds :i esa dqN [kfut ik, tkrs 

gSaA bUgsa fdl uke ls tkuk tkrk gS \ 

 

(1) Iyslj fu{ksi 

(2) eSaxuht xzafFkdk 

(3) czksekbu 

(4) /kkro/;Z 

27. Other than current fallow land is 

known as - 

(1) Left without cultivation for 

one or less than one 

agricultural year. 

(2) Left uncultivated for the past 

1 to 5 agricultural year. 

(3) Area sown more than once in 

an agricultural year. 

(4) None of the above. 

  27. iqjkru ijrh Hkwfe dks tkuk tkrk gS & 

 

(1) tgk¡ ,d d`f"k o"kZ ;k mlls de le; 

esa [ksrh u dh gksA 

(2) tgk¡ 1 ls 5 d`f"k o"kZ ls [ksrh u dh 

xbZ gksA 

(3) ,d d`f"k o"kZ esa ,d ls vf/kd ckj 

cks, x, {ks= dksA 

(4) mijksDr esa ls dksbZ ughA 

28. Which one of the following are not 

used into rain fed storage 

structures that allowed the water 

to stand ? 

(1) Khadins (2) Johads 

(3) Pit (4) Palar Pani 

  28. fuEufyf[kr esa ls dkSu&lk o"kkZ ty ,df=r 

djus ds fy, iz;ksx ughughughugh aaaa fd;k tkrk \ 
 

 

(1) [kknhu (2) tksgM+ 

(3) xM~<s  (4) ikyj ikuh 
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29. These are species whose 

population has declined are know 

as : 

(1) Vulnerable species 

(2) Endangered species 

(3) Extinct species 

(4) None of the above 

  29. os tkfr;k¡ ftudh la[;k ?kV jgh gS] D;k 

dgykrh gSa \ 

 

(1) lqes| tkfr;k¡ 

(2) ladVxzLr tkfr;k¡ 

(3) yqIr tkfr;k¡ 

(4) mijksDr esa ls dksbZ ugha 

30. To which one of the following 

types of vegetation does rubber 

belongs to ? 

(1) Tundra 

(2) Himalayan 

(3) Mangrove Forests 

(4) Tropical Evergreen Forests 

  30. jcM+ dk laca/k fuEufyf[kr esa ls fdl 

izdkj dh ouLifr ls gS \ 

 

(1) VqaMªk 

(2) fgeky; 

(3) eSaxzkso ou 

(4) m".kdfVca/kh; o"kkZ ou 

31. In which of the following state is 

the Manas Bio-reserve located ? 

(1) Punjab  

(2) Assam 

(3) Kerala  

(4) Orisa 

  31. ekul tho eaMy fup; Hkkjr ds dkSu&ls 

jkT; esa fLFkr gS \ 

(1) iatkc  

(2) vle 

(3) dsjy  

(4) mM+hlk 
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32. The movement of the plates 

results in the building up of 

stresses within the plates and the 

continental rocks leading to -  

(1) Erosion (2) Weathering 

(3) Folding (4) All above 

  32. IysVksa dh xfr ds dkj.k IysVksa ds vUnj ,oa 

Åij dh vksj fLFkr egk}hih; 'kSyksa  esa 

ncko mRiUu gksrk gSA blds ifj.kkeLo:i 

fuEu dkSu&lh fØ;k,¡ gksrh gSa \ 

(1) vijnu (2) vi{k; 

(3) oyu (4) mijksDr lHkh 

33. Which name is given to the 

periodic development of a warm 

ocean current along the coast of 

Peru as a temporary replacement 

of the cold Peruvian current ? 

(1) Kaal Baisakhi 

(2) El Nino 

(3) Monsoon 

(4) None of the above 

  33. BaMh is: ty /kkjk ds LFkku ij vLFkkbZ 

rkSj ij xeZ ty /kkjk ds fodkl dks D;k 

uke fn;k x;k gS \ 

(1) dky cSlk[kh 

(2) ,y uhuks 

(3) ekulwu 

(4) mijksDr esa ls dksbZ ugha 

34. Which one of the following 

statement is not true ? 

(1) Coal that has been burried 

deep and subjected to 

increases temperatures is 

bituminous coal. 

(2) Large reserves of natural gas 

have been discovered in the 

krishana Godavri basin. 

(3) The monazite sands of Tamil 

Nadu is also rich in Thorium. 

(4) Photovoltaic technology 

converts sunlight directly into 

electricity. 

  34. fuEufyf[kr esa ls dkSu&lk dFku lgh ughughughugh aaaa 
gS \ 

(1) xgjkbZ esa ncs vkSj vf/kd rkieku ls 

izHkkfor dks;ys dks fcVqfeul dks;yk 

dgk tkrk gSA 

(2) d`".kk&xksnkojh unh csflu esa izkd`frd 

xSl ds fo'kky Hk.Mkj [kksts x, gSA 

(3) rfeyukMq esa feyus okyh eksuktkbV 

jsr esa Fkksfj;e dh ek=k ikbZ tkrh gSA 

(4) QksVks oksYVkbd izkS|ksfxdh }kjk /kwi dks 

lh/ks fo|qr esa ifjofrZr fd;k tkrk gSA 
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35. In India this primitive form of 

cultivation is called by different 

names. Select the correct answer 

using the code given below - 

(1) Madhya Pradesh (i) Pama Dabi or 

Koman 

(2) Odisa (ii) Bewar or Dahiya 

(3) In Western Ghats (iii) Jhumming 

(4) North-East region (iv) Kumari 

(1) 1–ii, 2–i, 3–iv, 4–iii 

(2) 1–i, 2–ii, 3–iii, 4–iv 

(3) 1–ii, 2–iii, 3–iv, 4–i 

(4) 1–iii, 2–ii, 3–i, 4–iv 

  35. Hkkjr esa izkjafHkd fdLe dh [ksrh vusd 
ukeksa ls tkuh tkrh gSA fn, x, dksM dk 
iz;ksx djrs gq, lghlghlghlgh mÙkj dk p;u 
dhft, & 

(1) e/; izns'k esa (i) ikekMkch ;k  
dkseku 

(2) mM+hlk esa (ii) csoj ;k nfg;k 

(3) if'peh ?kkV eas (iii) >we 

(4) mÙkj iwohZ izn'kksa esa (iv) dqekjh 

(1) 1–ii, 2–i, 3–iv, 4–iii 

(2) 1–i, 2–ii, 3–iii, 4–iv 

(3) 1–ii, 2–iii, 3–iv, 4–i 

(4) 1–iii, 2–ii, 3–i, 4–iv 

36. The following waterways have 

been declared as the National 

waterways by the Govt. Select the 

correct answer using the code 

given below - 

(1) Allahabad and 

Haldia 

(i) National 

Waterways No.-3 

(2) Kottapuram-Kollam (ii) N. W. No.-4 

(3) Kakinada-

Puducherry stretch 

of canals 

(iii) N. W. No.-2 

(4) Sadiya and Dhubri 

waterways 

(iv) N. W. No.-1 

(1) 1–iv, 2–i, 3–ii, 4–iii 

(2) 1–i, 2–ii, 3–iii, 4–iv 

(3) 1–ii, 2–iii, 3–iv, 4–i 

(4) 1–iii, 2–iv, 3–ii, 4–i 

  36. fuEu tyekxks± dks Hkkjr ljdkj }kjk 
jk"Vªh; tyekxZ ?kksf"kr fd;k x;k gSA fn, 
x, dksM dk iz;ksx djrs gq, lghlghlghlgh mÙkj dk 
p;u dhft, & 
 

(1) gfYn;k rFkk bykgkckn (i) jk"Vªh; tyekxZ 
la[;k-3 

(2) dksêkiqje ls dksYye (ii) jk"Vªh; tyekxZ 
la[;k-4 

(3) dkdhukMk vkSj iqnqPpsjh 
ugj LVªsp ds lkFk&lkFk 

(iii) jk"Vªh; tyekxZ 
la[;k-2 

(4) lfn;k o /kqcjh ds e/; 
czãiq= unh tyekxZ 

(iv) jk"Vªh; tyekxZ 
la[;k-1 

(1) 1–iv, 2–i, 3–ii, 4–iii 

(2) 1–i, 2–ii, 3–iii, 4–iv 

(3) 1–ii, 2–iii, 3–iv, 4–i 

(4) 1–iii, 2–iv, 3–ii, 4–i 
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37. Match the following : 

The major iron-ore 

belts in India 

States 

(1) Odisa-Jharkhand 

Belt 

(i) Karnataka  

(2) Durg-Bastar-

Chanderpur Belt 

(ii) Goa and 

Maharashtra 

(3) Ballari 

Chitradurga 

Chikkamangluru 

Tumakuru Belt 

(iii) Chattisgarh 

(4) Maharashtra-Goa 

Belt 

(iv) Odisa 

(1) 1–iv, 2–iii, 3–ii, 4–i 

(2) 1–i, 2–ii, 3–iii, 4–iv 

(3) 1–ii, 2–iv, 3–iii, 4–i 

(4) 1–iv, 2–iii, 3–i, 4–ii 

  37. mfpr feyku dhft, % 

HkHkHkHkkjr dh ykSg v;Ld kjr dh ykSg v;Ld kjr dh ykSg v;Ld kjr dh ykSg v;Ld 

isfV;k¡isfV;k¡isfV;k¡isfV;k¡    

jkT;jkT;jkT;jkT;    

(1) vksfM'kk&>kj[kaM   

isVh 

(i) dukZVd 

(2) nqxZ&cLrj&pUnziqj 

isVh 

(ii) xksvk rFkk 

egkjk"Vª 

(3) cYykfj&fp=nqxZ] 

fpdeaxyw# rqedq: 

isVh 

 

(iii) NÙkhlx<+ 

(4) egkjk"Vª&xksvk  

isVh 

(iv) vksfM'kk 

(1) 1–iv, 2–iii, 3–ii, 4–i 

(2) 1–i, 2–ii, 3–iii, 4–iv 

(3) 1–ii, 2–iv, 3–iii, 4–i 

(4) 1–iv, 2–iii, 3–i, 4–ii 
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38. Choose in correct statement from 

the following -  

(1) Election of Indian  president is 

direct. 

(2) Election of the prime-minister 

is direct. 

(3) Ministers are appointed by the 

President on the advice of 

Prime-Minister. 

(4) President presides over to 

cabinet meeting. 

  38. fuEu esa ls lghlghlghlgh dFku pqfu, & 
 

(1) Hkkjrh; jk"Vªifr dk pquko izR;{k gSA 

 

(2) iz/kkueU=h dk pquko izR;{k gSA 

 

(3) efU=;ksa dh fu;qfDr jk"Vªifr }kjk 

iz/kkueU=h dh lykg ij gksrh gSA 

 

(4) jk"Vªifr eU=he.My dh cSBdksa dh 

v/;{krk djrk gSA 

39. Which of the following is not a 

permanent member of security 

council ? 

(1) Britain (2) U.S.A. 

(3) China  (4) Germany 

  39. fuEu esa ls lqj{kk ifj"kn dk LFkkbZ lnL; 

dkSu&lk ns'k uuuughghghgh aa aa gS \ 
 

(1) fczVsu (2) vesfjdk 

(3) phu (4) teZuh 

40. Indian parliament's consists of - 

(1) President, Vice President and 

Rajya Sabha 

(2) President, Lok Sabha and 

Rajya Sabha 

(3) President and Rajya Sabha 

(4) President, Vice President and 

Lok Sabha 

  40. Hkkjrh; laln esa 'kkfey gS & 

(1) jk"Vªifr] mijk"Vªifr o jkT; lHkk 

 

(2) jk"Vªifr] yksd lHkk o jkT; lHkk 

 

(3) jk"Vªifr o jkT; lHkk 

(4) jk"Vªifr] mijk"Vªifr o yksd lHkk 
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41. Choose the odd pair of 

personalities from the following - 

(1) Mrs. Indira Gandhi and 

Narendra Modi 

(2) Balram Jakhar and Shivraj 

Patil 

(3) Narendra Modi and Sumitra 

Mahajan 

(4) Dr. Rajendra Prasad and Dr. 

V. V. Giri 

  41. fuEu O;fDrRo esa ls fo"ke tksM+k Nk¡fV, & 

 

(1) Jherh bafnjk xk¡/kh o ujsUnz eksnh 

(2) cyjke tk[kM+ o f'kojkt ikfVy 

(3) ujsUnz eksnh o lqfe=k egktu 

(4) MkW- jktsUnz izlkn o MkW- oh-oh- fxjh 

42. Which of the following statement 

is not correct ? 

(1) Telengana is created from 

Orissa. 

(2) Uttrakhand is created from 

U. P. 

(3) Jharkhand is created from 

Bihar. 

(4) Chattisgarh is created from 

M. P.  

  42. fuEu esa ls dkSu&lk dFku lgh ughughughugh aaaa gS \  

(1) rsyaxkuk dk xBu mM+hlk ls fd;k 

x;kA 

(2) mÙkjk[k.M dk xBu mÙkj&izns'k ls 

fd;k x;kA 

(3) >kj[kaM dk xBu fcgkj ls fd;k x;kA 

(4) NÙkhlx<+ dk xBu e/; izns'k ls fd;k 

x;kA 
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43. Who presides the Joint session of 

Parliament ? 

(1) President   

(2) Vice President 

(3) Speaker of Lok Sabha 

(4) Prime-Minister 

  43. laln ds la;qDr vf/kos'ku dh v/;{krk 

dkSu djrk gS \ 

(1) jk"Vªifr 

(2) mijk"Vªifr 

(3) yksdlHkk dk v/;{k 

(4) iz/kkueU=h 

44. Which of the following is not a 

Political Party ? 

(1) INC  

(2) BJP 

(3) AAP  

(4) RSS 

  
44. fuEu esa ls dkSu jktuhfrd ny ughughughugh aaaa gS \ 

 

(1) vkbZ-,u-lh-  

(2) ch-ts-ih- 

(3) vki (AAP)  

(4) vkj-,l-,l- 

45. Which of the following is not a 

correct match ? 

(1) U Thant - Burma 

(2) Kofi Annan - Ghana 

(3) Boutros Boutros Ghali - Iran 

(4) Kurt Waldheim – Austria 

  
45. fuEu esa ls dkSu&lk fo"kefo"kefo"kefo"ke tksM+k gS \ 

 

(1) ;w FkkUV & cekZ 

(2) dksfQ vUuku & ?kkuk 

(3) cqrjl cqrjl ?kkyh & bZjku 

(4) dqrZ okWYMgkbe & vkWfLVª;k 
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46. An industrialist Mr. Bajaj has 

made an investment of Rs. 10 lacs 

on education, Rs. 10 lacs on 

training and Rs. 5 lacs on medical 

care of the employees of his 

company. His efforts are towards 

strengthening to - 

(1) Working capital 

(2) Human capital 

(3) Fixed capital 

(4) Capital growth 

  46. ,d m|ksxifr fe0 ctkt us viuh  

dEiuh ds deZpkfj;ksa ij f'k{kk esa 10 yk[k 

#i;s] izf'k{k.k esa 10 yk[k #i;s rFkk 

fpfdRlk ns[kHkky esa 5 yk[k #i;s dk 

fuos'k fd;kA mldk ;g iz;kl etcwr gksus 

dh vksj dne gS & 

(1) dk;Z'khy iw¡th 

(2) ekuoh; iw¡th 

(3) LFkk;h iw¡th 

(4) iw¡thxr fodkl 

47. If a farmer's cost of production to 

produce one quintal of wheat is 

Rs. 1800, then Govt. of India has 

adopted a principle to have at 

least MSP as below - 

(1) Rs. 2700  

(2) Rs. 1800  

(3) Rs. 3600  

(4) Rs. 2000 

  47. ;fn fdlku dh ,d fDoaVy xsgw¡ dks iSnk 

djus dh mRiknu ykxr 1800 #0 vkrh gS 

rc Hkkjr ljdkj us de ls de U;wure 

leFkZu ewY; j[kus ds fl)kUr dks viuk;k 

gS] tks fuEu gS & 

(1) 2700 #i, 

(2) 1800 #i, 

(3) 3600 #i,  

(4) 2000 #i, 
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48. Assume, there are three families 

lives in a village. In family of Mr. 

Ramlal Elder son Mr. Anil work 

on their fields and younger son 

Mr. Sunil is lawyer in district 

court. In family of Mr. Shayamlal-

only son Mr. Dinesh work in a 

nearby factory of making spare 

parts of motorcycle as an engineer. 

In family of Mr. Mohanlal-has two 

daughters-Elder Monika is a 

insurance agent and yonger 

Seema runs her internet cafe. 

Thus, what is the ratio of economic 

sectors in which people of this 

village are engaged.  

(1) Primary-20%, Secondary-60%, 

Tertiary-20% 

(2) Primary-60%, Secondary-20%, 

Tertiary-20% 

(3) Primary-20%, Secondary-20%, 

Tertiary-60% 

(4) Primary-20%, Secondary-20%, 

Tertiary-40% 

  48. eku yhft, ,d xk¡o esa rhu ifjokj jgrs 

gSaA Jh jkeyky ds ifjokj esa cM+k csVk 

vfuy vius [ksrksa eas dke djrk gS rFkk 

NksVk csVk lquhy ftyk vnkyr esa odhy 

gSA Jh ';keyky ds ifjokj esa dsoy ,d 

csVk gS tks ikl gh eksVj lkbfdy ds Lis;j 

ikVZ~l dh QSDVjh esa crkSj bathfu;j dke 

djrk gSA Jh eksguyky ds ifjokj esa nks 

csfV;k¡ gSaA cM+h csVh eksfudk chek ,tsUV dk 

dke djrh gS rFkk NksVh csVh lhek bUVjusV 

dSQs pykrh gS bl izdkj bl xk¡o ds yksxksa 

dk fofHkUu vkfFkZd {ks=ksa esa D;k vuqikr 

gS & 

 

 

(1) izkFkfed&20%] f}rh;d&60%] 

r̀rh;d&20% 

(2) izkFkfed&60%] f}rh;d&20%] 

r̀rh;d&20% 

(3) izkFkfed&20%] f}rh;d&20%] 

r̀rh;d&60% 

(4) izkFkfed&20%] f}rh;d&20%] 

r̀rh;d&40% 

Downloaded from cclchapter.in



  ( 25 ) A 

NTSE(Level-1)(P-II)Exam. Nov. – 2018  P. T. O. 

49. XYZ Bank has Rs.10000 crores 

public deposits and interested to 

utilize 7500 crores of its funds. In 

your opinon, which of the following 

activity do you find more better 

option for bank - 

(1) by renovating all existing 

branches 

(2) by deposit it to central bank 

(3) by opening many new 

branches 

(4) by extending loans 

  49. XYZ cSad ds ikl 10000 djksM+ #0 dh 
turk dh tek jkf'k;k¡ gSaA cSad blesa ls 
7500 djksM+ #0 dk mi;ksx djuk pkgrk 
gSA vkids fopkj ls] fuEu esa dkSu&lh 
xfrfof/k cSad ds fy, csgrj jgsxh \ 

(1) viuh lHkh orZeku 'kk[kkvksa dk 
uohuhdj.k djus esa 

(2) dsUnzh; cSad esa bls tek djds 

(3) cgqr lkjh ubZ 'kk[kk,a [kksyus esa 

(4) _.k foLr̀r djus esa 

50. Following are some activities - 

(A) Giving seeds and fertilizers 

subsidy to the farmers 

(B) Cultivating wheat 

(C) Making atta from wheat 

(D) Providing storage facility for 

the wheat 

Out of the above, which 

activity/activities relates to 

primary sector - 

(1) A, B, D  

(2) A, B 

(3) B   

(4) B, D 

  50. fuEufyf[kr dqN xfrfof/k;k¡ gSa & 

(A) fdlkuksa dks cht vkSj [kkn ij 
vuqnku nsuk  

(B) xsgw¡ dh [ksrh djuk 

(C) xsgw¡ ls vkVk rS;kj djuk 

(D) xsgw¡ j[kus ds fy, xksnke dh lqfo/kk 
iznku djuk 

mijksDr esa dkSu&lh xfrfof/k@xfrfof/k;k¡ 
izkFkfed {ks= ls lEcU/k j[krh gS \ 
 

(1) A, B, D  

(2) A, B 

(3) B   

(4) B, D 
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51. Income alone is not a completely 

adequate indicator of development 

of a country. Which one of the 

following statement is incorrect 

in this regard ?  

(1) Money cannot ensure a 

pollution free environment for 

individual. 

(2) Some people earn more than 

others do. 

(3) Money does ensure respect 

and dignity for individuals. 

(4) Money helps us buy material 

goods and services only. 

  51. fdlh ns'k ds fodkl dk iw.kZr;k i;kZIr 
ladsrd dsoy vk; gh ugha gSA bl lEcU/k 
esa fuEu dFkuksa esa ls dkSu&lk lgh ughughughugh aaaa 
gS \ 

(1) /ku yksxksa ds fy, i;kZoj.k eqDr 
okrkoj.k lqfuf'pr ugha dj ldrkA 

(2) dqN yksx vU; dh vis{kk esa T;knk 
dek ldrs gSaA 

(3) /ku yksxksa ds fy, eku&lEeku 
lqfuf'pr djrk gSA 

(4) /ku dsoy HkkSfrd oLrqvksa vkSj lsokvksa 
dks [kjhnus eas lgk;rk djrk gSA 

52. Match Column I with the 

statement of Column II - 

Column I Column II 

A. Right to 

inform 

i. When I buy an electric 

iron and suffered electric 

shock while using it 

B. Right to 

Choose 

ii. When I parceled a packet 

from post office but not 

delivered yet 

C. Right to 

Safety 

iii. When I buy a shirt from 

company outlet, 

instructions for washing it 

was tagged on it 

D. Right to 

seek 

redressal 

iv. When I have taken a gas 

connection, dealer insisted 

me to buy stove from 

them with the connection 

but I denied 

 

(1) A-i, B-ii, C-iii, D-iv 

(2) A-ii, B-iv, C-i, D-iii 

(3) A-iv, B-iii, C-ii, D-i 

(4) A-iii, B-iv, C-i, D-ii 

  52. dkWye dkWye dkWye dkWye I dk dkWye dkWye dkWye dkWye II ds dFku ls feyku 
dhft, & 

dkWyedkWyedkWyedkWye I dkWyedkWyedkWyedkWye II 

A. lwpuk dk 
vf/kdkj 

i. tc eSaus ,d fctyh dh 
vk;ju [kjhnh vkSj iz;ksx 
djus ds nkSjku fctyh dk 
>Vdk yxk 

B. p;u dk 
vf/kdkj 

ii. tc eSaus Mkd[kkus ls ,d 
iklZy fHktok;k ysfdu vHkh 
rd fMfyojh ugha nh 

C. lqj{kk dk 
vf/kdkj 

iii. tc eSaus dEiuh vkmVysV ls 
,d deht [kjhnh ftl ij 
bls /kksus laca/kh funsZ'k yxk, 
x, Fks 

D. f'kdk;rsa 
fuiVkus dk 
vf/kdkj 

iv. tc eSaus ,d xSl dk dusD'ku 
fy;k rks Mhyj us blds lkFk 
,d LVkso [kjhnus ds fy, 
ck/; fd;k ysfdu eSaus euk 
dj fn;k 

(1) A-i, B-ii, C-iii, D-iv 

(2) A-ii, B-iv, C-i, D-iii 

(3) A-iv, B-iii, C-ii, D-i 

(4) A-iii, B-iv, C-i, D-ii 
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53. There are a variety of ways in 

which the MNCs are spreading 

their production and interacting 

with local producers in various 

countries across the world.  

Which one is not feasible ? 

(1) By setting up partnership with 

local companies 

(2) By using the local companies 

for supplies  

(3) By imposing restriction on 

trade of local companies 

(4) By closely competing with 

local companies or buying 

them 

  53. ,sls cgqr lkjs rjhds gSa ftuls cgq jk"Vªh; 

dEifu;k¡ (MNCs) viuk mRiknu fofHkUu 

ns'kksa esa QSykrh gSa vkSj ogk¡ ij LFkkuh; 

mRikndksa ds lkFk ijLij izHkko j[krh gSaA 

buesa ls dkSu&lk laHko ughughughugh gSa \  

 

(1) LFkkuh; dEifu;ksa ds lkFk lk>snkjh 

}kjk 

 

(2) eky dh iwfrZ ds fy, LFkkuh; dEifu;ksa 

dk iz;ksx djuk 

(3) LFkkuh; dEifu;ksa ds O;kikj ij 

izfrcU/k yxokdj 

(4) LFkkuh; dEifu;ksa ds lkFk utnhdh 

izfrLi/kkZ djds ;k mUgsa [kjhn dj 

54. In ∆ ABC, ∠ABC = 90° and 

∠BAC = 60°. If bisector of ∠BAC 

meets BC at D, Then BD : DC is - 

 

(1) 1 : 2  

(2) 1 :  3  

(3) 1 :  2     

(4)  1 : 1 

  54. ∆ ABC esa ∠ABC = 90° vkSj 

∠BAC = 60° gSA ;fn ∠BAC dk 

lef}Hkktd BC ls D ij feyrk gS] rks 

BD : DC gS & 

(1) 1 : 2  

(2) 1 :  3  

(3) 1 :  2     

(4)  1 : 1 
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55. a and b are roots of the quadratic 

equation x2 + 5x + d = 0 and a and 

c are roots of the quadratic 

equation x2 + 6x + 2d = 0. If there 

is only one common root of the 

above two equations, then the 

possible value of d is - 

(1) 2 (2) –2 

(3) 4 (4) –4 

  
55. a vkSj b f}?kkr lehdj.k x2 + 5x + d = 0 

ds ewy gSa rFkk a vkSj c f}?kkr lehdj.k 

x2 + 6x + 2d = 0 ds ewy gSaA ;fn 

mijksDr nksuksa lehdj.kksa dk dsoy ,d gh 

mHk;fu"B ewy gS] rks d dk laHkkfor eku 

gS & 

 

(1) 2 (2) –2 

(3) 4 (4) –4 

56. Sum of the lengths of all edges of a 

cube is x metres. If the surface 

area of the cube is x sq.metres, 

then its volume (in cubic metres) 

is - 

(1) x3 (2) 8 

(3) x (4) 2 

  
56. fdlh ?ku ds lHkh fdukjksa dh yackb;ksa dk 

;ksx x ehVj gSA ;fn bl ?ku dk i`"Bh; 

{ks=Qy x oxZ ehVj gS] rks bldk vk;ru 

¼?ku ehVjksa esa½ gS & 

 

(1) x3 (2) 8 

(3) x (4) 2 

57. ABC is a right angled triangle, 

right angled at ∠B. If side AB is 

divided into three equal parts by  

points D and E such that D is 

nearer to A, than  

22

22

BCDC

ECAC

−

−
 is equal to - 

(1) 3 (2) 2
2

1
 

(3) 2
4

1
 (4) 2 

  57. ABC ,d ledks.k f=Hkqt gS] ftldk ∠B 

ledks.k gSA ;fn Hkqtk AB dks fcanq D 

vkSj E rhu cjkcj Hkkxksa esa bl izdkj 

foHkkftr djrs gSa fd D fcanq A ds vf/kd 

fudV gS] rks   

22

22

BCDC

ECAC

−

−
 cjkcj gS & 

(1) 3 (2) 2
2

1
 

(3) 2
4

1
 (4) 2 
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58. There are 15APs whose common 

differences are 1, 2, 3, …...., 15 

respectively, the first term of each 

being 1. Then sum of their 15th 

terms is - 

(1) 1695 (2) 1792 

(3) 1800 (4) 1924 

  58. 15APs gS] ftuds lkoZ  varj Øe'k% 

1,2,3,...,15  gSa buesa ls izR;sd dk izFke 

in 1 gSA rc] buds 15osa inkas dk ;ksx 

gS & 

 

(1) 1695 (2) 1792 

(3) 1800 (4) 1924 

59. ABC is a triangle in which 

AB = 10cm, AC = 24cm and 

BC = 26cm. If AD is its median, 

then length of AD is - 

(1) 12 cm (2) 12.5 cm 

(3) 13 cm (4) 14.75 cm 

  59. ABC ,d f=Hkqt gS] ftlesa AB = 10 lseh,  

AC = 24 lseh vkSj BC = 26 lseh gSA 

;fn AD mldh ekf/;dk gS rks AD dh 

yEckbZ gS & 

(1) 12 lseh (2) 12.5 lseh 

(3) 13 lseh (4) 14.75 lseh 

60. The decimal expansion of the 

number 
8750

14588
will - 

(1) terminate after two decimal 

places 

(2) terminate after three decimal 

places 

(3) terminate after four decimal 

place 

(4) not terminate 

  60. la[;k 
8750

14588
 dk n'keyo izlkj & 

 

(1) nks n'keyo LFkkuksa ds ckn var gksxkA 

 

(2) rhu n'keyo LFkkuksa ds ckn var gksxkA 

 

(3) pkj n'keyo LFkkuksa ds ckn var gksxkA 

 

(4) var ugha gksxkA 
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61. All the zeroes of the polynomial 

x3 + 2x2 + a are also zeroes of the 

polynomial x5 – x4 – 4x3 + 3x2 + 3x + b 

Then, the values of a and b are 

respectively - 

(1) –1 and 2 (2) –1 and –2 

(3) 1 and –2 (4) 1 and 2 

  61. cgqin x3 + 2x2 + a ds lHkh 'kwU;d cgqin 

x5 – x4 – 4x3 + 3x2 + 3x + b ds Hkh 

'kwU;d gSaA rc a vkSj b ds eku Øe'k% 

gSa & 

 

(1) –1 vkSj 2 (2) –1 vkSj –2 

(3) 1 vkSj –2 (4) 1 vkSj 2 

62. Present age of a father is six times 

his son's age. After four years, the 

age of the father will be four times 

his son's age. The present ages (in 

years) of the father and son are 

respectively -  

(1) 24 and 4  

(2) 30 and 5 

(3) 36 and 6  

(4) 28 and 7 

  62. ,d firk dh orZeku vk;q mlds iq= dh 

vk;q dh 6 xquh gSA pkj o"kksZ ds ckn] firk 

dh vk;q iq= dh vk;q dh 4 xquh gks 

tk,xhA firk vkSj iq= dh orZeku vk;q 

¼o"kksZ eas½ Øe'k% gSa &  

 

(1) 24 vkSj 4  

(2) 30 vkSj 5 

(3) 36 vkSj  6  

(4) 28 vkSj 7 

63. The largest number which divides 

72 and 127 leaving remainders 7 

and 10 respectively is - 

(1) 845 (2) 458 

(3) 65 (4) 13 

  63. og lcls cM+h la[;k ftlls 72 vkSj 127 

dks foHkkftr djus ij 'ks"kQy Øe'k% 7 

vkSj 10 vkrs gSa] gSS & 

(1) 845 (2) 458 

(3) 65 (4) 13 
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64. The line segment joining the 

points A(2, –2) and B(–7, 4) is 

trisected at the points  P and Q (P 

is nearer to A). If coordinates of  P 

and Q are (a,o) and (–4, b) 

respectively, then the values of 

a and b are respectively - 

(1) 1 and 2  

(2) –1 and 2 

(3) 1 and –2  

(4) –1 and –2 

  64. fcanqvksa A(2, –2) vkSj B(–7, 4) dks 

feykus okys js[kk[kaM dks fcanq P vkSj Q 

lef=Hkkftr djrs gSa ¼P fcanq A ds vf/kd 

fudV gS½A ;fn  P vkSj Q ds funsZ'kkad 

Øe'k% (a, o) vkSj  (–4, b) gSa] rks a 

vkSj  b ds Øe'k% eku gaS & 

 

(1) 1 vkSj 2  

(2) –1 vkSj 2 

(3) 1 vkSj –2  

(4) –1 vkSj –2 

65. 

1θsinθcos

1θsinθcos

−+

+−
 is equal to - 

(1) secθ + tanθ    

(2) secθ – tanθ 

(3) cosecθ – cotθ 

(4) cosecθ + cotθ 

  
65. 

1θsinθcos

1θsinθcos

−+

+−
 cjkcj gS & 

(1) secθ + tanθ    

(2) secθ – tanθ 

(3) cosecθ – cotθ 

(4) cosecθ + cotθ 

66. From the top of a 60 m high tower, 

the angles of depression of the top 

and bottom of pillar are 30° and 

60° respectively. Then the height 

of the pillar is - 

(1) 20 m (2) 20 3m 

(3) 40 m (4) 40 3m 

  66. 60 eh0 Å¡ph ,d ehukj ds f'k[kj ls ,d 

LraHk ds 'kh"kZ vkSj fupys fljs ds voueu 

dks.k Øe'k% 30° vkSj 60° gSA rc] LraHk 

dh Å¡pkbZ gS & 

 

(1) 20 eh0 (2) 20 3  eh0 

(3) 40 eh0 (4) 40 3  eh0 
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67. The diagonals of a quadrilateral 

ABCD are perpendicular to each 

other. Then the quadrilateral 

formed by joining the mid-points 

of its sides (in order) is a - 

(1) kite  

(2) rectangle 

(3) rhombus   

(4) square 

  67. fdlh prqHkqZt ABCD ds fod.kZ ijLij 

yac gSaA rc] ml prqHkqZt dh Hkqtkvksa ds 

e/;&fcUnqvksa dks ¼Øe ls½ feykus ij cuus 

okyk prqHkqZt gS ,d & 

 

(1) irax  

(2) vk;r 

(3) leprqHkqZt  

(4) oxZ 

68. In figure, PQ is a chord of a circle 

with centre O and PT is its 

tangent at P. If  ∠QPT = 60°, then  

∠PRQ is - 

 

(1) 105°  

(2) 115° 

(3) 120°  

(4) 130° 

  68. vkd`fr esa] PQ dsUnz O okys o`Ùk dh ,d 

thok gS rFkk fcanq P ij PT mldh ,d 

Li'kZ js[kk gSA ;fn ∠QPT = 60° gS] rks 

∠PRQ gS & 

 

(1) 105°  

(2) 115° 

(3) 120°  

(4) 130° 
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69. A momento is made as shown in 

the figure. Its base PBCQ is silver 

plated from the front side. 

 

The silver plated area is 









=
7

22
 use π   - 

(1) 11 cm2  

(2) 11.5 cm2 

(3) 12.5 cm2  

(4) 13 cm2 

  69. vkd`fr esa n'kkZ, vuqlkj ,d eksesaVks cuk;k 

x;k gSA blds vk/kkj PBCQ ij vkxs dh 

vksj pk¡nh dh dybZ djkbZ xbZ gSA 

 

pk¡nh dh dybZ okys Hkkx dk {ks=Qy gS 









= dhft, ksxiz;
7

22
π  & 

(1) 11 lseh2  

(2) 11.5 lseh2 

(3) 12.5 lseh2  

(4) 13 lseh2 

70. A bucket is in the form of a 

frustum of a cone and it can holds 

28.49  litres of water. The radii of 

the top and bottom of the bucket 

are 28 cm and 21 cm respectively. 

Then slant height of the bucket is - 









=
7

22
 use π  

(1) 15 cm   

(2) 246 cm 

(3) 253 cm  

(4) 274 cm 

  
70. ,d ckYVh 'kadq ds ,d fNUud ds vkdkj 

dh gS rFkk blesa 28.49 yhVj ikuh vk 

ldrk gS bl ckYVh ds Åijh vkSj fupys 

fljksa dh f=T;k,¡ Øe'k% 28 lseh vkSj 

21 lseh gS rc bl ckYVh dh  fr;Zd 

Å¡pkbZ gS & 









= dhft, ksxiz;
7

22
π  

(1) 15 lseh  

(2) 246  lseh 

(3) 253  lseh  

(4) 274  lseh 
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71. Two dice are thrown at the same 

time. The probability that, the 

sum of two numbers appearing on 

the top of the dice is greater than 

6 but less than 9, is - 

(1) 
36

11
  

(2) 
3

1
 

(3) 
6

5
  

(4) 
9

4
 

  71. nks iklksa dks ,d lkFk Qsadk tkrk gSA nksuksa 

iklkssa ds Åijh Qydksa ij vkus okyh 

la[;kvksa dk ;ksx 6 ls vf/kd ijarq 9 ls 

de gksus dh izkf;drk gS & 

 

(1) 
36

11
  

(2) 
3

1
 

(3) 
6

5
  

(4) 
9

4
 

72. A person can row a boat at 10 km/h 

in still water. He takes two and 

half hours to row from A to B and 

back. If the distance between A 

and B is 12 km, then the speed of 

the stream is - 

(1) 3 km/h  

(2) 2
2

1
 km/h 

(3) 2 km/h  

(4) 1
2

1
 km/h 

  72. ,d O;fDr 'kkar ty esa 10 fdeh/?ka dh pky 

ls uko [ks ldrk gSA og A ls B rd tkus 

esa vkSj fQj okil vkus esa 2
2

1  ?kaVs dk 

le; ysrk gSA ;fn A vkSj B ds chp dh 

nwjh 12 fdeh gS] rks /kkjk dh pky gS & 

(1) 3 fdeh/?ka  

(2) 2
2

1
 fdeh/?ka 

(3) 2 fdeh/?ka  

(4) 1
2

1
 fdeh/?ka 
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73. In the figure, points P, Q, R and S 

lie on a circle. Then  the values of 

x and y are respectively - 

 

(1) 40° and 100°  

(2) 35° and 110° 

(3) 50° and 80°   

(4) 30° and 120° 

  73. vkd`fr esa fcanq P, Q, R vkSj S ,d òÙk 

ij fLFkr gSaA rc x vkSj y ds eku Øe'k% 

gSa & 

 

(1) 40° vkSj 100°  

(2) 35° vkSj 110° 

(3) 50° vkSj 80°  

(4) 30° vkSj 120° 

74. Difference between systolic and 

diastolic blood pressure is known 

as – 

(1) blood pressure 

(2) cardiac output 

(3) pulse pressure 

(4) heart beat 

  74. flLVksfyd o Mk;LVksfyd jDr ncko ds 

vUrj dks dgk tkrk gS & 

 

(1) jDr ncko 

(2) ân; vkmViqV 

(3) iYl ncko  

(4) ân; Lianu 
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75. About what percentage of living 

species are in danger of extinction ? 

(1) 20%  

(2) 10% 

(3) 30%  

(4) 1% 

  75. yxHkx fdrus izfr'kr thfor iztkfr;k¡ 

foyqIr gksus ds dxkj ij gSa \ 

(1) 20%  

(2) 10% 

(3) 30%  

(4) 1% 

76. Entry of water into roothairs is an 

example of - 

(1) Diffusion  

(2) Imbibition  

(3) Osmosis  

(4) Plasmolysis 

  76. ewyjkseksa esa ikuh dk izos'k fuEu dk 

mnkgj.k gS & 

(1) fM¶;qtu  

(2) bEchch'ku 

(3) vkWLeksfll  

(4) IykTeksfyfll 

77. Tendons & ligaments are types of 

tissue - 

(1) muscular tissue 

(2) epithelial tissue  

(3) nervous tissue  

(4) fibrous tissue 

  77. VsaMu ,oa fyxkeSaV fuEu izdkj ds Ård 

gSa & 

(1) is'kh; Ård 

(2) e/;koj.kh Ård 

(3) raf=dk Ård 

(4) Qkbczl Ård 
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78. The organ which spider use to 

prepare web is - 

(1) Spinnerates  

(2) Spicules 

(3) Spiracles  

(4) Carapace 

  78. og vax ftlds }kjk edM+h viuk tky 

rS;kj djrh gS & 

(1) LikbZujsV~l  

(2) LihD;wYl 

(3) LikbjsdYl  

(4) dkjkisl 

79. Variations are important as they 

produce - 

(1) Adaptations 

(2) Elimination 

(3) Evolution  

(4) Selection 

  79. fofHkUurk,¡ egRoiw.kZ gSa D;ksafd ;s iznku 

djrh gSa & 

(1) vuqdwyu 

(2) gVk nsuk 

(3) fodkl  

(4) p;u 

80. Mode of nutrition in cuscuta is - 

(1) Saprophytic  

(2) Autotrophic 

(3) Parasitic  

(4) Insectivorous 

  80. vejcsy esa iks"k.k fuEu izdkj dk gS & 

(1) e`rksithoh  

(2) Lo;aiks"kh 

(3) ijthoh  

(4) dhVHk{kh 

81. Structural and functional unit of 

kidney is - 

(1) Nephron  (2) Ureter  

(3) Neuron  (4) Urethra 

  81. xqnsZ (kidney) dh jpukRed o dk;kZRed 

bdkbZ gS & 

(1) usÝku (2) ;wjsVj 

(3) U;wjkWu (4) ;wfjFkzk 
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82. Lateral ventricles are found in - 

(1) Cerebellum  

(2) Cerebral hemisphere  

(3) Diencephalon  

(4) Medulla oblongata 

  82. ysVjy oSfUVªdYl ik;s tkrs gSaa & 

(1) lsfjcSye essa  

(2) lsfjczy gsfeLQh;j esa 

(3) Mk;uflQsyksu esa 

(4) eSMqyk vkWCyksaxsVk esa 

83. Cessation of menstrual cycle is 

called - 

(1) Puberty  

(2) Menarche  

(3) Pregnancy  

(4) Menopause 

  83. ekfld pØ lekIr gksus dks dgrs gSa & 

 

(1) I;wcVhZ  

(2) feukdhZ 

(3) fizXuSalh  

(4) ehuksikst 

84. Exchange of gases in human 

occurs in - 

(1) Trachea   

(2) Pleura  

(3) Bronchi   

(4) Alveoli 

  84. euq";ksa esa xSl fofue; fuEu esa gksrk gS & 

 

(1) Vªsfd;k  

(2) Iywjk 

(3) czksadkbZ  

(4) ,yfo;ksykb 
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85. Which of the following disease is 

only due to external causes ? 

(1) Diabetes   

(2) Arthritis  

(3) Jaundice   

(4) Cataract 

  85. fuEu esa ls dkSu&lh chekjh dsoy cká 

dkj.kksa ls gksrh gS \ 

(1) e/kqesg  

(2) vkFkZjkbfVl 

(3) ihfy;k  

(4) eksfr;kfcUn 

86. High yielding varieties of wheat 

were initially developed by an 

Indian scientist  by cross breeding 

the traditional varieties with - 

(1) Mexican Varieties 

(2) Europian Varieties 

(3) American Varieties  

(4) African Varieties 

  86. 'kq:&'kq: esa xsg¡w dh vf/kd iSnkokj nsus 

okyh iztkfr dk fodkl Hkkjrh; oSKkfud us 

ijaijkxr iztkfr dks fdl iztkfr ds lkFk 

ØkWl czhfMax djkds fd;k & 

(1) eSfDldu iztkfr 

(2) ;wjksfi;u iztkfr 

(3) vesfjdu iztkfr 

(4) vÝhdu iztkfr 

87. ILS-82 and B-77 breeds are of 

following - 

(1) Cow   

(2) Fowl  

(3) Pig  

(4) Buffalo 

  87. ILS-82 ,oa B-77 fuEu esa ls fdldh 

czhM gS & 

(1) xk;  

(2) eqxhZ 

(3) 'kwdj  

(4) HkSal 
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88. A dynamometer D is attached to 

two masses m1 = 3 kg & m2 = 5 kg 

Forces of f1 = 9N & f2 = 25N are 

applied to the masses as shown : 

The dynamometer will read - 

 

(1) 10 N  

(2) 15 N 

(3) 14 N  

(4) 6 N 

  88. ,d MkbueksehVj D, nks nzO;ekuksa 

m1 = 3 kg rFkk m2 = 5 kg ls tqM+k gSA 

9 U;wVu vkSj 25 U;wVu ds nks cy 

fp=kuqlkj yxs gSaA MkbueksehVj dk ikB~;kad 

gS & 

 

 

(1) 10 U;wVu 

(2) 15 U;wVu 

(3) 14 U;wVu  

(4) 6 U;wVu 

89. A packet of weight W was allowed 

to fall freely in a water tank with 

acceleration 'a' (<g). The 

magnitude of resistive force 

offered by water is - 

(1) 
a

g
w  

(2) 
g

a
w  

(3) 







−
g

a
w 1  

(4) 







+
g

a
w 1  

  89. W Hkkj dk ,d iSdsV] ikuh ds VSad esa 

LorU=rkiwoZd Roj.k 'a' (<g) ls fxjk;k 

x;kA ikuh }kjk yxk;k x;k izfrjks/kh cy 

gS & 

 

(1) 
a

g
w  

(2) 
g

a
w  

(3) 







−
g

a
w 1  

(4) 







+
g

a
w 1  
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90. The displacement time graph of a 

body in motion is given as below - 

 

Velocity of body is (in m/s) - 

(1) 3 (2) 1/3 

(3) 3  (4) 
3

1
 

  90. ,d xfreku oLrq dk foLFkkiu&le; xzkQ 
fp= esa iznf'kZr gS & 

 

oLrq dk osx (m/s esa) gksxk & 

(1) 3 (2) 1/3 

(3) 3  (4) 
3

1
 

91. V2–S graph of moving body in 

straight line is as shown in figure. 

Which one among the following is 

not true ? 

 

(1) Motion is uniformly 

accelerated.  

(2) Corresponding s-t graph will 

be parabola.  

(3) Initial velocity of particle is 

zero. 

(4) Velocity is time varying. 

 

  91. ,d  ljy js[kk esa pyrh oLrq dk V2–S 
¼osx2&foLFkkiu½ xzkQ fp= esa iznf'kZr gSA  

buesa ls dkSu&lk dFku lR; ughaughaughaugha gSa \ 
 

 

(1) xfr esa ,d leku Roj.k gSA 

(2) laxr s-t xzkQ ,d ijoy; gSA 

(3) oLrq dk vkjfEHkd osx 'kwU; gSA 

(4) osx] le; ds lkFk ifjorhZ gSA 

 

Time (s) 

30° 

Displacement (m) 

le; (s) 
30° 

     foLFkkiu (m) 

V2 

V2 
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92. The velocity of sound wave in a 

given medium is V when its 

frequency is ν. The velocity, when 

frequency changes to 5ν is - 

(1) 5V (2) V/5 

(3) 25V (4) V 

  92. fdlh ek/;e esa /ofu rjaxksa dh pky V 

rFkk vkòfÙk ν gS tc vkòfÙk 5ν gks] rks 

/ofu dh pky gksxh & 

 

(1) 5V (2) V/5 

(3) 25V (4) V 

93. A small block of material having 

relative density 1/3 is immersed in 

liquid & released. The block starts 

moving upwards with an 

acceleration  'a'. The value of 'a' is 

(g is acceleration due to gravity) - 

(1) g (2) 2g 

(3) 3g (4) 4g 

  93. ,d NksVs xqVds dks ftlds inkFkZ dk 

vkisf{kd ?kuRo 1/3 gS dks nzo esa Mqckdj 

NksM+k x;kA xqVdk 'a' Roj.k ls Åij dh 

vksj pyrk gS 'a' dk eku gksxk 

(g xq#Roh; Roj.k gS) & 

 

(1) g (2) 2g 

(3) 3g (4) 4g 

94. A wooden plank of length 'L' rests 

an a frictionless floor. A boy of 

mass 'M' now runs over the plank 

starting from its one end. If mass 

of wooden plank is M/5, the 

distance covered by the boy 

relative to the ground will be - 

(1) L/6 (2) 5L/6 

(3) L/5 (4) 4L/5 

  94. 'L' yEckbZ dk ,d ydM+h dk r[rk] fdlh 

?k"kZ.k jfgr lrg ij j[kk gSA ,d ckyd 

ftldk nzO;eku 'M' gS] bl r[rs ds ,d 

fljs ls pyuk izkjEHk djrk gSA ;fn ydM+h 

ds r[rs dk nzO;eku M/5 gks] rks i`Foh ds 

lkis{k ckyd }kjk r; nwjh gksxh &   

 

(1) L/6 (2) 5L/6 

(3) L/5 (4) 4L/5 
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95. A rod of length 'l' and mass 'm' 

fixed at one end, is hanging 

vertically. The other end is now 

raised so that the rod makes an 

angle 30° with horizontal line. The 

work done in this process will be - 

(1) mgl  

(2) mgl/2 

(3) mgl/3  

(4) mgl/4 

  95. ,d NM+ ftldk nzO;eku  'm'  ,oa yEckbZ 

'l' gS] vius ,d fljs ls m/okZ/kj yVd jgh 

gSA blds nwljs fljs dks bruk mBk;k x;k 

fd ;g {kSfrt ls 30° dk dks.k cukrh gSA 

bl izfØ;k esa fd;k x;k dk;Z gksxk & 

 

(1) mgl  

(2) mgl/2 

(3) mgl/3  

(4) mgl/4 

96. Graph shown V-I Characteristics   

of two resistance their series 

combination & parallel 

combination. Identify the 

resistances  values & graphs - 

 

  
96. bl fp= esa nks izfrjks/kksa] muds Js.kh o 

lekUrj la;kstu dks V-I  xzkQ }kjk 

fn[kk;k x;k gSA izfrjks/kksa ds eku ,oa xzkQ 

dh igpku djsa & 
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 Resistance-1 Resistance-2 Series Parallel 

(1) x1 x2 x3 x4 

(2) x2 x3 x4 x1 

(3) x3 x2 x1 x4 

(4) x4 x1 x2 x3 
 

 izfrjks/k&izfrjks/k&izfrjks/k&izfrjks/k&1    izfrjks/k&izfrjks/k&izfrjks/k&izfrjks/k&2 Js.kh Js.kh Js.kh Js.kh 

la;kstula;kstula;kstula;kstu 

lekUrj lekUrj lekUrj lekUrj 

la;kstula;kstula;kstula;kstu 

(1) x1 x2 x3 x4 

(2) x2 x3 x4 x1 

(3) x3 x2 x1 x4 

(4) x4 x1 x2 x3 
 

97. Two plane mirrors P & Q are kept 

at ? with respect to each other. 

Light falls on P is reflected and 

then fall on Q and is reflected. The 

emergent ray is opposite to 

incident ray direction. The ? is 

equal to - 

(1) 45°  

(2) 30° 

(3) 60°  

(4) 90° 

  

97. nks lery niZ.k P rFkk Q ,d nwljs ls \ 

dks.k ij j[ks gSa izdk'k dh ,d fdj.k P 

ij iM+rh gS blls ijkofrZr gksdj Q ij 

iM+rh gS vkSj iqu% ijkofrZr gksrh gSA fuxZr 

fdj.k vkifrr fdj.k dh foijhr fn'kk esa 

gSA \ dk eku gksxk & 

(1) 45°  

(2) 30° 

(3) 60°  

(4) 90° 
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98. The magnetic field intensity (B) at 

distance 'r' from a long straight 

conductor carrying a steady 

current  varies  with 'r' as shown 

in figure - 

  

     (1)      (2) 

  

     (3)      (4) 

  98. ,d lh/ks /kkjkokgh pkyd ls 'r' nwjh ij 

pqEcdh; {ks= dh rhozrk (B) dk nwjh 'r' ds 

lkFk ifjorZu fuEu xzkQ vuqlkj gksxk & 

 

 

  

     (1)      (2) 

  

     (3)      (4) 

99. The graph in figure shown how the 

inverse of magnification (1/m) 

produced by a thin convex lens 

varies with object distance 'u' the 

power of lens will be - 

 

(1) b/c (2) b/ca 

(3) bc/a (4) c/b 

  99. fp= esa iznf'kZr xzkQ esa ,d irys mÙky 

ySal ds fy, vko/kZu ds O;qÙØe (1/m) dk] 

oLrq nwjh 'u' ds lkFk ifjorZu fn[kk;k x;k 

gSA 

ySal dh {kerk gksxh & 

 

(1) b/c (2) b/ca 

(3) bc/a (4) c/b 
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100. In the circuit shown all the 

measuring instruments are ideal. 

The reading in ammeter A2 will be 

 

(1) 1/4A   

(2) 1A 

(3) <1/4A  

(4) Zero 

  100. fp= esa iznf'kZr ifjiFk esa lHkh ekid 

midj.k vkn'kZ gSaA vehVj A2 dk ikB~;kad 

gksxk & 

 

(1) 1/4A   

(2) 1A 

(3) <1/4A  

(4) 'kwU; 
 

10 Ω 

10 Ω 
1 Ω 

10 Ω 

10 Ω 
1 Ω 
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5. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys/uhys 
ckWy IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd uhps 
fn[kk;k x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  5. Answers   to  questions  in answer sheet are  to  be  given 
by darkening complete circle using Black/Blue ball point 
pen as shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as 
given below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

6. jQ dk;Z ijh{kk iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh 
txg ij gh djsaA 

  6. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

7. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius 
mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd 
¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

  7. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

8. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr   
fodYi ds fy, OMR mÙkj i=d ij dsoy ,d oÙ̀k      
dks gh iwjh rjg uhys@dkys ckWy IokbaV iSu ls HkjsaA        
,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk   
ldrk gSA 

  8. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Blue/Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed to 

be changed. 

9. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk,  
,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk 
vuqØekad mÙkj i=d esa fu/kkZfjr LFkku ds vfrfjDr vU;= u 
fy[ksaA 

  9. The candidates should ensure that the Answer Sheet is 

not folded. Do not make any stray marks on the Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

10. ijh{kk iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd 
fdlh Hkh ifjfLFkfr esa ¼dsoy ijh{kk iqfLrdk ,oa mÙkj i=d ds 
Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ nwljh ijh{kk iqfLrdk 
lSV miyC/k ugha djokbZ tk,xhA 

  10. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of Test 

Booklet will not be provided. 

11. ijh{kk iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh 
rjhds ls gkftjh i= esa fy[ksaA 

  11. The candidates will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

12. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds flok; fdlh 
izdkj dh ikB~;lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] 
istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj 
dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 

  12. Candidates are not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

13. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ 
¼jksy ua0½ fn[kk,¡A 

  13. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

14. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ 
vH;FkhZ viuk LFkku u NksMa+sA 

  14. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

15. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA   15. Use of Electronic/Manual Calculator is prohibited.  

16. fdlh gkyr esa ijh{kk iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx 
vyx u djsaA 

  16. No part of the Test Booklet and Answer Sheet shall be 

detached under any circumstances. 

17. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj 
i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
ijh{kk iqfLrdk dks ys tk ldrs gSaA 

  17. On completion of the test, the candidate must hand over 

the Answer Sheet to the Invigilator in the Room/Hall. 

The candidates are allowed to take away this Test 

Booklet with them. 

18. pwafd bl iz'u-i= ds rhuksa Hkkxksa ds fy, fu/kkZfjr le; lhfer 
gS] blfy, bldk vf/kdre lnqi;ksx dhft, vkSj fdlh iz'u 
ij cgqr le; u yxkb,A 

  18. Since the time allotted to the three parts of this question-

paper is very limited, you should make the best use of it 

by not spending too much time on any question. 
 

� � 
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